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1 (a) The following is the summarized balance sheet of 15

Ayush Ltd. as on 31-3-15.

Liabilities Rs. |Assets Rs.
Equity share capital Land-Building 10,00,000
Rs. 100 each 6,00,000 | Plant-Machine 5,00,000
_10% Pref. share _ ' Furnitures : 1,50,000
capital . 6,00,000 [ Stock 60,000
General Reserve - 7 2,00,000 | Debtors 80,000
Profit and Loss Alc. B 1,00,000- Bills Receivable 30,000
10% Debentures - 3,830,000 | Cash-Bank 70,000
Creditors 50,000 | Preliminary expenses 30,000

Bills payable 30,000

Outstanding Exp. '10,000
19,20,000 19,20,000
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Additional Informations : | Rs.

(1) Total sales , _ 9.,00,000
— Cost of goods sold - 4,50.000
Gross Profit 4,50,000

— Administrative, Selling
and Financial expenses 1,50.000
Profit Before Tax 3,00,000
— Taxes 50% 150,000
Net Profit : 1,50,000

{2) Opening stock was Rs. 90,000

Calculate the followmg accounting ratios from the above
information :

(1) Gross Profit Ratio

) Net Profit Ratio -

3) Current Ratio

(4) Liguid Ratio

(63) ‘Operating Ratio

6) Stock Turnover Ratio

(7) Debtors Ratio (360 days to be taken for the year)
(8) Proprietory ratio

@ Rate of return on capital employed

(10) Rate of return on equity share capital

(11) Rate of return on equity shareholder’s fund
(12) Earning per share

(13) Creditors Ratio (360 days to be taken for the year)
(14) Gearing Ratio

(15) Interest coverage ratio.

(b) Write note on : Management A(;countant. | 5
OR _
1 (@ If the stock turnover rate is 5 times and the opening 5

stock is less by 10,000 then the closing stock and also
the average stock 1s Rs. 40, 000 then find out purchase.
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(b) Find net proﬁt ratio and refurn on capital employed. B

Net profit (before interest and tax) 24,860,000
Rate of taxation 50%
Sales 27,50,000
10% Debentures 20,00,000
Equity capital 40,00,000
Pref, capital (12%) 20,00,000

) State characteristic and scope of management 10

accounting. -

2  From the following information of the Yashvi Ltd. prepare 20

a fund flow statement and schedule of change in working

capital.
Balance Sheet of Yashvi Ltd.
Liabilities T 31-3-15| 31-3-14 Asseis 31-3-15 381-3-14
Rs. Bs.| _ le.' RBs,
Equity shares of Fixed Assets il,O0,000 5,00,000
Rs. 10 each 475,000 1,00,000| 10% investments 1 1,00,000
Red. Pref. shares  {Stock -2,00,004 2,70,600
of Rs. 10 each Debtors 3,00,009 2,30,000
of Rs. 8 paid | 1,00,000| Bank Balance 10,00,000
Capital Reserve - 1,00,000}Profit and Loss Ale] 20,000 2,00,000
Gen. Reserve 3,00,000 3,00,000 | Debenture discount | 5,004 |
Capit-al-Red. |
Reserve - 50,000
10% Debenture 3,00,000| 1,00,000
Creditors 4.00,000 1,00,000_
Bills payable 3,00,000| 1,00,000
Provi. for tax. 5,00,000( 2,00,000{ -
Provi. for depreciation 3,00,000 1,080,000
“Bank overdraft -1 1,00,000
26,25,000 [13,00,000 26,25,0000 13,00,000
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Further information

1)

@)

RGN

)

Stock was valued at 10% less than its original cost in
previous year. Now it is decided to value at cost price.
Stock on 31-3-15 is shown at its cost price.

In the beginning of the current year company has

redeemed preference shares at premium of 8% after
ohserving necessary legal provisions. For this purpose
company has transferred required amount to capital
Red. Reserve Account from General Reserve Alc.

In the beginning of the year company sold off all the
fixed assets for Rs. 6,00, 000 and has credited proﬁt to
capital reserve account.

The company has given fully paid up bonus shares to
its equity shareholder’s from Capital Reserve Account.

o

(8) The company has sold off its investment for Rs. 1,25,000.
- 6) During the year 2014-15 the company has paid
Rs. 1,00,000 interim dividend and paid Rs. 1,00,000 for
tax.
' OR
2 (a) Write note on :
(1) Utility of Fund Flow Statement.
(@) Statement showing change in working capital. 5
(b) ‘Abhi’ Ltd. has provided the following balance 10
sheets and requests you to prepare cash ﬂow statement
as per AS-3.
Liabilities 2013-14 (Rs.) 2014-15 (Rs.)
Share Capital | 3,00,000 3,75,000
Reserve Fund 75,000 | - 90,000
Profit and Loss Alc. 45,000 | 46,000
Mortgage Loan 1,00,000 - -
.Creditors | 2,25,000 2,10,000
Provision for taxation 45,000 . 52,500
7,90,000 7,73,500
RB-89%06]
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Assets:

Land-Building 3,00,000 2.85,000
Plant and Machinery 2.25,000 2.53,500
Stock | 1,50,000 1,20,000
Debtors 1,14,000 96,000
Cash 1,000 1,500
Goodwill - 7,500
Bank - 10,000

7,90,000 7,713,500

Other Information :

)]

@

@
@

‘Dividend paid Rs. 40,000

Assets of other company were purchased for a

consideration of Rs. 75,000 payable in shares. The

following assets were purchased stock Rs. 30,000,
Machinery Rs. 37,500. ' '

Machinery was further ﬁurchased for Rs. 1,20,000

Loss on sale of machinery was Rs. 300 which was written

ofE to reserve fund.

(5) Income tax provided during the year Rs. 50,000.
3 (a) Fill up the blanks by necessary calculation. 10
' Co.| Selling | Variable |Sales in | Contri | Fixed | Profit/
Price per|Expenses Units | bution exp. Loss
unit - Rs. Rs. ‘Rs
A ? _60% 10,0600 ? 15,000 | +25,000
B 60 ? 5,000 | 1,00,000 2 1+ 30,000
C 200 75% ? 1,60,000 | 1,20,000 ?
RB-8906] 12 [Contd....



(b) Present PV ratio of a compahy is 40% 5
@) If selling price decreases by 10%
@) If selling price decreases by 20%

What should be the percentage increase in sale to
maintain the present position ?

© Write note on : Differential Costing. ' 5
| ~ OR |
3 (&) Give meaning of marginal costing and explain 10

margin of safety and key factor.

() “Manav” Ltd. furnishes the following informations i6
relating to the year ended 31.3.2015 :
Selling price (per unit) Rs. 50
Variable expenses (per unit) Rs. 30
Fixed Expenses Rs. 5,00,000

Company expected to reveal a profit of Rs. 9,00,000

Market investigations suggest the fo]lowmg responses o th.e
price changes.

Option T : 5% decrease in selling price and
, 5% increase in sales volume
. Option-II: 10% decrease in selling price and
_ 10% increase in sales volume
Option-IIT: 15% decrease in selling price and
15% increase in sales volume
Evaluate this options on profitability.

4 (@ From the following balance sheet of ‘Harikrishna’ Ltd. 15
make out comparative statement.

Liability 31.3.14] 31.3.15] Assets 31.3.14 | 31.3.15
Share Capital 4,50,000| 6,00,000 Land and Building { 2,77,500 | 2,02,500
Reserves ' 2,47,500_ 1,66,500 Machinery '3,00,000 [ 4,850,000
Debentures 1,50,000f 2,25,000| Furniture 15,000 18,750
Loan .= 1,12,500f 1,50,000] Other fixed assets 18,750 22,500
Bills Payable 37,500 33,750} Bank : 15,600 60,000
Creditors 76,0001 90,000 Bills Receivable 1,12,600 69,000
Other current Debtors 1,560,000 | 1,87,500
Liability 3,750]  7,500] Stock , | 1,87,500 | 262,500

' 10,76,250] 12,72,750 : 10,76,250-| 12,72,750
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() Write a limitations of Budgetory Contrtol.

OR

4 (@ From the following balance sheet of ‘Sahjanand’ Ltd. 10

make_ out 100 per cent statement.

Liabilities ‘A’ Company | ‘B Company
Rs. | Rs.
Préference share capital -9,60,000 | 12,80,000
Equity share capital 12,00,000 | 32,00,000
Reserve and Surplus 1,12,000 | 1,44,000
Long Term Loan 9,20,000 10,40,000
Bills Payable ‘16,00() | _
Creditors 96,000 32,000
Outstanding Exp. 1,20,000 48,000
: Proposed“ dividend 80,000 7,20,000
| 35,04,000 64,64,000
- Assets
Land and Building 6,40,000 9,84,000
Plant and Machinery 26,72,000 48,00,000
- Investments 8,000 3,20,000
Stock 80,000 2,060,000
Debtors 32,000 . 64,000
Prepaid exp. 8,000 16,000
Cash 64,000 80,000
' 35,.04,000 64,64,000
0 What is Budgetary Control ? Write its characteristics 10
and édvantage. |
- RB-8906] 14 [Contd....



5 (@ From the following information calculate net 10
_monetary gain or loss during the year 2015.
Particulars | 1205 | srazzens
Cash 30,000 60,000
Debtors S 11,20,000 1,60,000
Creditors 1,00,000 1,40,0007
Bank Loan | , 1,50,000 ‘ 1,50,000
General Price Index | 150 | 9225

Average Price Index is 187.5.

(b)

©

Prepare statement of cost of sales by HCA and CPP - §
method by using following information of ‘Dharm’ Ltd.

Opening stock ' Rs. 8,000
Purchase ' Rs. 48,000
Closing stock (FIFO) : Rs. 12,000

Price Index :

~ Opening 100, at the end 140, average 125.

Explain types of report. : ' ‘ 5
OR -
The following is the brief information related to 19

profit and loss account for the year ended 315 March
2015 prepared on a historical cost method of ‘Bhakti’
Lid.
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Particulars { Amount [Amount
| Rs. Rs.
Sales 6,00,000
Cost_of sales
Opening stock 60,000
+ Purchase | 4,14.000
4,74,000
— Closing Stock (FIFQO) 54,000 ! 4,20,000
Salary | 75,000
Other expenses 30,000
Depreciation of building 6,000 _
Dividend and Interest (31.3.15) 43,000 | 5,74,000
Net Profit ‘. | 26,000
: Additional' Information :
(1) Price Index :
Opening 200
At the end 400l
Average | 300
@) Wh'e_n building purchased that
time price index was 100
Convert the abo§e statement according to CPP method.
() What is MIS ? Explain its characteristics. 10
[2190]
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